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QUESTION 1

You have a 4-node cluster with 2x AFF A700 controllers and 2x FAS8200 controllers. A volume set to default settings is
moved from a FAS8200 to an AFF A700 using the volume move command. In this scenario, which volume parameter
change will allow for data compaction? 

A. space-allocation 

B. security-style 

C. space-guarantee 

D. fractional-reserve 

Correct Answer: C 

 

QUESTION 2

Which three statements are true for mailbox disks per node in an HA pair? (Choose three.) 

A. Six disks are required if the root volume is on a mirrored aggregate. 

B. Two disks are required if the root volume is on a disk shelf. 

C. Four disks are required if the root volume is on a mirrored aggregate. 

D. Eight disks are required if the root volume is on partitioned disks. 

E. One array LUN is required if the root volume is on a storage array. 

Correct Answer: BCE 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2492713 (8) 

 

QUESTION 3

In which version of ONTAP did the NVMe protocol become available for SAN environments? 

A. 9.4 

B. 9.5 

C. 9.3 

D. 9.2 

Correct Answer: A 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2495115 
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QUESTION 4

What are two advantages of creating small RAID groups inside an aggregate? (Choose two.) 

A. maximized storage space 

B. decreased risk of multiple disk failure 

C. shorter reconstruction time 

D. additional available spare drives 

Correct Answer: BC 

Reference: https://library.netapp.com/ecmdocs/ECMM1277794/html/smg/GUID-
EE30CDA9-095F-4DD19A29-BB9F0E55DB4F.html 

 

QUESTION 5

Your manager asks you to upgrade the ONTAP software that is running on the organization\\'s FAS8200. 

The FAS8200 is running ONTAP 9.2 and needs to be upgraded to ONTAP 9.5. 

In this situation, what is the minimum number of ONTAP upgrades required to accomplish the task? 

A. 3 upgrades; ONTAP 9.2 > ONTAP 9.3 > ONTAP 9.4 > ONTAP 9.5 

B. 1 upgrade; ONTAP 9.2 > ONTAP 9.5 

C. 2 upgrades; ONTAP 9.2 > ONTAP 9.3 > ONTAP 9.5 

D. 4 upgrades; ONTAP 9.2 > ONTAP 9.2P4 > ONTAP 9.3 > ONTAP 9.4P5 > ONTAP 9.5 

Correct Answer: C 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2492712 (10) 
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